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Part I Reading Comprehension
Question 1 to 5 are based on the following passage:

Shopping for clothes is not the same experience for a man as it is for a woman. A man
goes shopping because he needs something. His purpose is settled and decided in advance.
He knows what he wants and his objective is to find it and buy it; the price is a secondary
consideration. All men simply walk into a shop and ask the assistant for what they want. If
the shop has it in stock, the salesman promptly produces it, and the business of trying it on
proceeds at once. All being well, the deal can be and often is completed in less than five.
minutes, with hardly any chat and to everyone’s satisfaction.

For a man, slight problems may begin when the shop does not have what he wants, or
does not have exactly what he wants. In that case the salesman, as the name implies, tries
to sell the customer something else. He offers the nearest he can to the article required. No
good salesman brings out such a substitute bluntly; he does so with skill and polish: “I know
this jacket is not the style you want, sir, but would you like to try it for size? It happens to
be the colour you mentioned. ” Few men have patience with this treatment, and the usual
response is: “This is the right colour and may be the right size, but I should be wasting my
time and yours by trying it on. ”

Now how does a woman go about buying clothes? In almost every respect she does so in
the opposite way. Her shopping is not often based on need. She has never fully made up her
mind what she wants, and she is only “having a look round.” She is always open to
persuasion; indeed she sets great store by what the saleswoman tells her, even by what
companions tell her. She will try on any number of things. Contrary to a lot of jokes, most
women have an excellent sense of value when they buy clothes. They are always on the
lookout for the unexpected bargain. Faced with a roomful of dresses, a woman may easily
spend an hour going from one rail to another, to and fro, often retracing her steps, before
selecting the dresses she wants to try on. It is a laborious process, but apparently an
enjoyable one. Most dress shops provide chairs for the waiting husbands.

1. When a man is buying clothes, .

A) he buys cheap things, regardless of quality

B) he chooses things that others recommend

C) he does not mind how much he has to pay for the right things

D) he buys good quality things, so long as they are not too expensive
2. What does a man do when he cannot get exactly what he wants?

A) He buys similar things of the colour he wants.

B) He usually does not buy anything.
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C) At least two of his requirements must be met before he buys.
D) So long as the style is right, he buys the thing.
3. In commerce a good salesman is one who .
A) treats his customers sharply
B) always has in stock just what you want
C) does not waste his time on difficult customers
D) sells something a customer does not particularly want
4. What does the passage tell us about women shoppers?
A) They welcome suggestions from anyone.
B) Women rarely consider buying cheap clothes.
C) Women often buy things without giving the matter proper thought.
D) They listen to advice but never take it.
5. What is the most obvious difference between men and women shoppers?
A) The time they take over buying clothes.
B) The fact that men do not try clothes on in a shop.
C) Women bargain for their clothes, but men do not.
D) Women stand up to shop, but men sit down.
Questions 6 to 10 are based on the following passage: :

It is , everyone agrees, an immense task that the child performs when he learns to
speak, and the fact that he does so in so short a period of time challenges explanation.

Language learning begins with listening. Individual children vary greatly in the amount
of listening they do before they start speaking. Most children will “obey” spoken
instructions some time before they can speak. Before they can speak, many children will also
ask questions by gesture and by making questioning noises.

Any attempt to trace the development from the noises babies make to their first spoken
words leads to considerable difficulties. It is agreed that they enjoy making noises, and that
during the first few months, one or two noises sort themselves out as particularly an
indication of delight, distress, sociability, and so on. It is agreed, too, that from about
three months they play with sounds for enjoyment, and that by six months they are able to
add new sounds to their performance. This self-imitation leads on to deliberate imitation of
sounds made or words spoken to them by other people. The problem then arises as to the
point at which one can say that these imitations can be considered as speech.

It is a problem we need not analyze in detail. The meaning of a word depends on what a
particular person means by it in a particular situation; and it is clear that what a child means
by a word will change as he gains more experience of the world. Thus the use at, say, seven
months, of “mama” as a greeting for his mother cannot be dismissed as a meaningless sound
simply because he also uses it at other times for his father, his dog, or anything else he
likes.

Playful and apparently meaningless imitation of what other people say continues after
the child has begun to speak for himself. 1 doubt, however, whether anything is gained
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when parents take advantage of this ability in an attempt to teach new sounds.
6. A baby’s first noises are
A) a reflection of his moods and feelings
B) an early form of language
C) a sign that he means to tell you something
D) an imitation of the speech of adults
7. The problem of deciding at what point a baby’s imitations can be considered as speech
A) is important because words have different meanings for different people
B) is not especially important because the changeover takes place gradually
C) is one that can never be properly understood because the meaning of words changes
with age
D) is one that should be completely ignored because children’s use of words is often
meaningless
8. Which of the following statements is true?
A) Before they begin to speak, most children do about the same amount of listening.
B) Children first imitate adults, then themselves.
C) Children’s first words are usually meaningless because they can apply to different
things.
D) Words do not have fixed meanings.
9. The writer believes that .
A) parents can never hope to teach their children new sounds
B) children no longer imitate people after they begin to speak
C) children who are good at imitating learn new sounds more quickly
D) even after they have learnt to speak children still enjoy imitating
10. What do you think “challenges” means in the first sentence of the passage?
A) Is against. B) Agrees with.
C) Asks for. D) Corresponds with.
Questions 11 to 15 are based on the following passage:

Manners nowadays in metropolitan cities like London are practically non-existent. It is
nothing for a big, strong schoolboy to elbow an elderly woman aside in the dash for the last
remaining seat in the tube or bus, much less stand up and offer his seat to her.

This question of giving up seats in public transport is much argued about by young men,
who say that, since women have claimed equality, they no longer deserve to be treated with
courtesy and that those who go out to work should take their turn in the rat race like anyone
else. Women have never claimed to be physically as strong as men. Even if it is not agreed,
however, that young men should stand up for younger women, the fact remains that
courtesy should be shown to the old, the sick and the burdened. Are we really so lost to all
ideals of unselfishness that we can sit there indifferently reading the paper or a book, saying
to ourselves “First come, first served”, while a grey-haired woman, a mother with a young
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child stands? Yet this is all too often seen.

Older people, tired and irritable from a day’s work, are not angels, either—far from it.
Many a brisk argument or an insulting quarrel breaks out as the weary queues push and
shove each other to get on buses and tubes. One cannot commend this, of course, but one
does feel there is just a little more excuse.

If cities are to remain pleasant places to live in at all, however, it seems imperative, not
only that communications in transport should be improved, but also that communication
between human beings should be kept smooth and polite. All over cities, it seems that
people are too tired and too rushed to be polite. Shop assistants won’t bother to assist, taxi-
drivers growl at each other as they dash dangerously round corners, bus conductors pull the
bell before their desperate passengers have had time to get on or off the bus, and so on and
so on. It seems to us that it is up to the young and strong to do their small part to stop such
deterioration.

11. What is the writer’s opinion concerning courteous manners towards women?

A) Now that women have claimed equality, they no longer need to be treated differently

from men.

B) It is generally considered old-fashioned for young men to give up their seats to young

women.

C) “Lady First” should be universally practiced.

D) Special consideration ought to be shown to them.

12. On the tube or bus, according to the author, older people

A) often offer their seats to others

B) are treated better than younger people are

C) are no more considerate than younger people toward each other

D) from the Continent are more irritable

13. According to the author, communication between human beings would be smoother if

A) people were more considerate towards each other
B) people were not so tired and irritable
C) women were treated with more courtesy
D) public transport could be improved
14. What is the possible meaning of the underlined word “deterioration” in the last
paragraph?
A) Worsening of general situation.
B) Lowering of moral standards.
C) Declining of physical constitution.
D) Spreading of evil conduct.
15. The author’s tone in writing this passage is

A) worried B) critical C) indifferent D) ironical
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Questions 16 to 20 are based on the following passage:

A scientist once said: “I have concluded that the earth is being visited by intelligently
controlled vehicles from outer space. ”

If we take this as a reasonable explanation for UFOs (unidentified flying objects),
questions immediately come up. ’

“Why don’t they get in touch with us, then? Why don’t they land right on the White
House lawn and declare themselves?” people asked.

In reply, scientists say that, while this may be what we want, it may not necessarily be
what they want.

“The most likely explanation, it seems to me,” said Dr. Mead, “is that the responsible
society outside our solar system is keeping an eye on us to see that we don’t set in motion a
chain reaction that might have unexpected effects far outside our solar system. ”

Opinions from other scientists might go like this: “Why should they want to get in
touch with us? They may want to observe us only and not interfere with the development of
our civilization. ” ,

Some scientists have also suggested that Earth is a kind of zoo or wildlife reserve. Just
as we set aside wilderness areas and wildlife reserves to allow animals and growing things to
develop naturally while we observe them, so perhaps Earth was set aside ages ago for the
same purpose.

Are we being observed by intelligent beings from other civilizations in the universe? Are
they watching our progress in space travel? Do we live in a gigantic “zo0” observed by our
“keepers”, but having no communication with them? .

Now we have to recognize that, among the stars in the heavens, there may very well be
worlds inhabited by beings who are to us as we are to ants.

16. People who ask the question “Why don’t they get in touch with us... and declare
themselves?” think that

A) there are no such things as UFOs

B) UFOs are visitors from solar system

C) there’s no reason for UFOs not to land on Earth

D) we are bound to see UFOs sooner or later

17. According to Dr. Mead, the attitude of beings from outer space towards us is one of

A) unfriendliness B) suspicion C) superiority D) hostility
18. The underlined word “keepers”(Line 3, Para. 8) refers to

A) persons who look after animals in a gigantic zoo

B) astronauts travelling in the manned spaceship

C) intelligent beings observing us from outer space

D) persons who are observing us
19. The writer thinks that

A) in the heavens there may be other worlds inhabited by intelligent beings
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B) human beings are as supreme as the intelligent beings in outer space
C) maybe human beings are not so supreme as the beings from other civilizations in the
universe
D) Both A and C.
20. The tone of the writer is that of
A) doubt B) warning C) indifference D) criticism

Part I Short Answer Questions

Perhaps the easiest way to understand the basis of all trade is to consider why each of us
as individuals engages in trade. If people did not trade with each other everyone would have
to be self-sufficient. However, the extreme inefficiency (% %) of self-sufficiency people is
well-documented throughout history, starting with the cave men. It didn’t take long even
the' most primitive people, to discover that by specializing in one or a few activities, their
total productivity could be increased greatly. For example, in tribal societies it is well known
that certain people made the utensils, others hunted, and still others cared for domestic
animals and crops. These people knew that output of the entire tribe was increased when
even a modest amount of specialization took place.

The opportunity to increase output also accounts for present-day trade between people
whether it be people in the same neighborhood or people of different regions of a country, or
different countries. In the United States, for example, it would be foolish for people in the
northern part of the nation to attempt to grow their own citrus fruits, for the outpﬁt of the
entire nation is increased when people in the South and West produce the nation’s fruit, part
of which is traded with the people of the North for items produced there. A trade barrier
between North and South surely would reduce the output of the entire country because each
region would have to undertake production for which it was not well suited. The same
reasoning applies to trade between countries. (In the discussion that follows we will speak of
international trade and trade between two countries, but keep in mind that in reality it is
trade between people living within different national boundaries.) If the United States
attempted to produce its own coffee, for exafnple, it would have to forego the production of
a relatively large amount of other products because of the resources that would have to be
. devoted to relatively inefficient coffee production. The above examples illustrate what is
perhaps the most obvious reason for the increase in total output or productivity resulting'
from trade difference in climate or natural resources.

Questions

1. What is the biggest problem of being self-sufficient?
2. What will specialization bring about?

3. What is the basis of all trade?




4. What factors lead people in different region to specializing in different products?

5. Why do Americans not produce their own coffee?
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